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answers WS/textbook questions
calculating slope using two points
drawing a graph

Warm -Up

1. a. From looking at the graph who is travelling faster?
b. Calculate Jason and Carly's speeds

10 Jason Carly
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  Sep 18-8:52 AM     pg 365 #1,2,6    1. A graph is sometimes more useful than an equation because it is   a visual representation of the speed.  It allows you to see the   relationships between the two variables easily.        2. The slope of a distance-time graph represents the speed of an   object.        
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  Sep 21-10:01 AM     Answers  Science 10 Interpreting Distance Time Graphs         1.Given the following position vs time graph calculate:   	 a. The speed of the object   V =  rise    =  distance   =  50m  = 10 m/s           Run       time           5s      	 b.How far did the object travel in total?   The object travelled a total distance of 50 m      	 c.How long was the object in motion?   The object was in motion for 5 seconds      	 d.How long did it take to drive 30m?   It took 3 seconds to drive 30 meters      	 e.How far did the object travel in 2 seconds?   In two seconds the object travelled 20 meters     2. Given the following distance vs time graph calculate:   	 a. The speed  of the object at a   Speed =  rise    =     distance    =   60m =  30m/s                   Run            time           2s   	 b. The speed of the object at b   At B the object is stationary or at rest so the speed is zero      	 c. The speed of the object at c   Speed =  rise    =     distance    =   60m =  30m/s                  Run            time           3s
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  Sep 21-10:10 AM      a. What time did the train arrive at Newport?   The train arrived in Newport at 9.5 hours      b. How many stops did the train make on its journey to London?   The train made 5 stops on its journey to London      c. What was the total distance travelled by the train?   The total distance travelled by the train was 200km      d. What was the speed of the train from 8.00 hours to 8.5 hours?   Speed =  rise    =     distance    =   20km  =40km/h                   Run            time          0.5h
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Calculating Speed Using Two Points

Another way to calculate the slope is using two points on the graph and the
following formula:

v= M =do-di =v2-vi

Mt -t X2 — X1
You would need to use this method for any lines that do not begin at the
origin (0) :

To calculate the speed of the red line:

1st locate your two points

( : ) ( : )

2nd put your points into the equation
V=do-di =y2-y1 =
-1 X2-Xi

Pos ition (m)

3rd solve the equation by subtracting the top Time ()
and then the bottom and then dividing

Complete the following questions
Graphing Worksheet #1,2
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. Calculate the average speed for the men and the average speed for the women when they each set the
Canadian records for the following races. State each answer with the correct certainty and units.
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2. According to the calculations in question 1, who is the fastest person in Canada?
Convert the record setting speed to the value in kilometres per hour.
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